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Question: 677 

A grantor transfers $12 million in stocks to an irrevocable trust, with a basis of $6 million. The estate tax
exemption is $13.6 million. Which statements are correct? 

A. The stocks retain their $6 million basis in the trust
B. The grantor can amend the trust terms annually
C. The transfer is subject to gift tax, offset by the unified tax credit
D. The trust assets are included in the grantor’s estate

Answer: A,C

Explanation: Stocks transferred to an irrevocable trust retain their original basis ($6 million), as no step-
up occurs for gifts. The transfer is a taxable gift, but the unified tax credit can offset gift tax up to the
$13.6 million exemption. The grantor cannot amend an irrevocable trust, and the assets are excluded from
the grantor’s taxable estate.

Question: 678 

A client invests $250,000 in an immediate annuity with a 4% payout for 12 years, discounted at 2%.
Which are correct? 

A. The annual payout is $10,000.
B. The present value is approximately $104,614.
C. The annuity mitigates market risk.
D. The payout is inflation-protected.

Answer: A,B,C

Explanation: Annual payout = $250,000 × 0.04 = $10,000. PV = $10,000 × [(1 – (1.02)^-12) / 0.02] ≈
$104,614. Fixed annuities mitigate market risk but are not inflation-protected unless specified.

Question: 679 

Mr. Goel, a 50-year-old with INR 30 crore, wants to retire in 10 years and fund a family trust. His risk
tolerance is moderate. During the data-gathering phase, what is the most critical information to collect?



A. His current investment portfolio
B. His family trust objectives
C. His tax liabilities
D. His lifestyle expenses

Answer: B

Explanation: Understanding Mr. Goel’s objectives for the family trust is critical to tailor the wealth plan,
as it defines the trust’s purpose, beneficiaries, and funding needs. While portfolio details, taxes, and
expenses are important, the trust’s objectives drive the planning process for his dual goals.

Question: 680 

A hedge fund uses a market-neutral strategy, holding long positions in Stock X (beta = 1.0, expected
return = 10%) and short positions in Stock Y (beta = 1.0, expected return = 8%). The portfolio is equally
weighted. Which outcomes are expected? 

A. The portfolio beta is zero
B. The portfolio’s expected return is 2%
C. The strategy is immune to market movements
D. The portfolio’s alpha is zero

Answer: A,C

Explanation: In a market-neutral strategy, the portfolio beta is zero because equal long and short
positions with identical betas cancel out: β_p = 0.5 * 1.0 - 0.5 * 1.0 = 0. The expected return is 0.5 *
10% - 0.5 * 8% = 5% - 4% = 1%, not 2%. The strategy is designed to be immune to market movements
due to zero beta. Alpha depends on actual returns, which are not provided, so the alpha statement cannot
be confirmed.

Question: 681 

A government policy reduces capital gains tax to 10% but imposes a 4% wealth tax on assets above $5
million. Your client, Ms. Wong, has a $6 million portfolio (40% equities, 40% bonds, 20% alternatives).
Which forecasting techniques should you use? 

A. Calculate the wealth tax impact: 4% × ($6 million - $5 million)
B. Assess the tax savings from the 10% capital gains rate on equity gains
C. Increase bond allocation to 50% to reduce taxable capital gains
D. Use a Monte Carlo simulation to forecast portfolio growth under tax changes

Answer: A, B, D



Explanation: The policy changes impact Ms. Wong’s portfolio. Calculating the wealth tax (4% × $1
million = $40,000 annually) quantifies the liability on assets above $5 million, guiding tax planning.
Assessing tax savings from the 10% capital gains rate on equity gains informs rebalancing to maximize
after-tax returns. Monte Carlo simulation projects portfolio growth under tax uncertainty, ensuring robust
planning. Increasing bond allocation to 50% may reduce capital gains but doesn’t directly address the
wealth tax or optimize growth, lacking specific justification.

Question: 682 

For KYC compliance, a wealth manager is onboarding a client with $50M in assets from multiple
jurisdictions. Which steps are critical to meet global KYC standards? 

A. Verify the client’s identity with government-issued IDs
B. Assess the client’s investment knowledge level
C. Obtain source of wealth documentation for all jurisdictions
D. Review the client’s social media for reputational risks

Answer: A, C

Explanation: Global KYC standards require robust identity and financial verification. Government-issued
IDs confirm the client’s identity, a foundational KYC step. Source of wealth documentation across
jurisdictions ensures compliance with AML and tax regulations. Assessing investment knowledge is
relevant for suitability but not a KYC requirement. Social media reviews are not part of standard KYC
protocols.

Question: 683 

Mr. Brown, a New York resident, dies in 2025 with a $15 million estate. His will leaves $5 million to a
bypass trust for his children and the remainder to his spouse. The federal estate tax exemption is $13.61
million, and New York’s estate tax exemption is $7.13 million. Which tax consequences apply? 

A. No federal estate tax is due due to the marital deduction and exemption
B. New York estate tax is due on the amount exceeding $7.13 million
C. The bypass trust assets are excluded from the surviving spouse’s estate
D. The marital deduction is limited to $10 million

Answer: A,B,C

Explanation: The $10 million to the spouse qualifies for the unlimited marital deduction (IRC Section
2056), and the $5 million bypass trust uses part of the $13.61 million federal exemption, resulting in no
federal estate tax. New York’s estate tax applies to the estate exceeding $7.13 million ($15M - $7.13M =



$7.87M taxable), with rates up to 16%. Bypass trust assets are excluded from the surviving spouse’s
estate under IRC Section 2041, as she has no control. The marital deduction is unlimited for qualifying
transfers, not capped at $10 million.

Question: 684 

A wealth manager’s firm receives referral fees from a private equity fund. The manager recommends the
fund to a client without disclosing the fees. Which fiduciary standard violations have occurred? 

A. Breach of duty of care by failing to assess the fund’s suitability
B. Breach of duty of loyalty by not disclosing the referral fees
C. Non-compliance with SEC Regulation Best Interest
D. Violation of AML regulations due to undisclosed fees

Answer: B,C

Explanation: The fiduciary standard’s duty of loyalty requires disclosing conflicts of interest, such as
referral fees, to prioritize client interests. Failing to disclose violates SEC Regulation Best Interest, which
mandates transparency in recommendations. The duty of care breach requires evidence of unsuitable
recommendations, which is not provided. AML regulations are unrelated to fee disclosure.

Question: 685 

A hedge fund employs an arbitrage strategy exploiting a mispricing between two convertible bonds. Bond
A has a delta of 0.6 and Bond B has a delta of 0.4. The fund goes long on Bond A and short on Bond B
with a notional exposure of $1M each. Which risks are mitigated? 

A. Market risk
B. Interest rate risk
C. Credit risk
D. Delta-neutral risk

Answer: A,D

Explanation: In a convertible bond arbitrage strategy, the delta-neutral position (long Bond A, short Bond
B) hedges market risk by balancing the deltas (0.6 - 0.4 = 0.2, adjusted to zero with position sizing). This
creates a delta-neutral portfolio, mitigating market risk. Interest rate and credit risks remain, as
convertible bonds are sensitive to these factors.

Question: 686 



Ms. Arora, a 59-year-old executive, has a 401(k) ($1,200,000) and a Roth IRA ($300,000). She’s in the
35% bracket and plans to retire at 62 in the 22% bracket. Which strategy optimizes her tax efficiency?

A. Convert $100,000 from 401(k) to Roth IRA
B. Withdraw $50,000 from the 401(k)
C. Contribute $30,500 to the 401(k)
D. Contribute $8,000 to a traditional IRA

Answer: A, C

Explanation: Converting $100,000 to a Roth IRA (A) incurs $35,000 tax now but saves $13,000 later
(22% vs. 35%). Contributing $30,500 to the 401(k) (C) saves $10,675 (35%). Withdrawing from the
401(k) (B) triggers unnecessary taxes. A traditional IRA contribution (D) is non-deductible due to income
limits.

Question: 687 

Mrs. Hayes, a New York resident, gifts $100,000 to a trust for her grandchildren in 2025, using
Crummey powers. The annual gift tax exclusion is $18,000. Which actions are required? 

A. File IRS Form 709 to report the $82,000 taxable gift
B. Notify beneficiaries of their Crummey withdrawal rights
C. Pay gift tax on the $100,000 gift
D. Allocate GST tax exemption to avoid future GST tax

Answer: A,B,D

Explanation: The $100,000 gift exceeds the $18,000 exclusion, so $82,000 is taxable, requiring Form
709. Crummey withdrawal rights must be communicated to beneficiaries to qualify for the exclusion. No
gift tax is due unless her lifetime exemption is exhausted. Allocating GST exemption on Form 709
avoids GST tax on distributions to grandchildren.

Question: 688 

For Mr. Kumar’s $2 million portfolio, you are building a spreadsheet model targeting $4 million in 15
years at a 6% return with 3% inflation. Which Excel tools should you use? 

A. Use the FV function: =FV(6%-3%, 15, 0, -2000000)
B. Apply Solver to optimize for the $4 million target
C. Use the PMT function to calculate withdrawal amounts
D. Set up a Scenario Manager to test inflation scenarios



Answer: A, B, D

Explanation: The FV function (=FV(6%-3%, 15, 0, -2000000)) calculates the real future value, adjusting
for inflation to compare with the $4 million target. Solver optimizes asset allocation to hit the target
while managing risk. Scenario Manager tests different inflation scenarios, ensuring robustness. The PMT
function is irrelevant, as it calculates payments, not applicable to a growth goal without withdrawals.

Question: 689 

A stock has a beta of 1.4, and the market’s expected return is 9% with a risk-free rate of 2%. The stock’s
actual return was 13%. Which metrics correctly describe the stock’s performance? 

A. Alpha = 2.8%
B. Expected return = 10.8%
C. The stock outperformed its CAPM benchmark
D. The stock’s risk-adjusted return is negative

Answer: A,B,C

Explanation: Using CAPM, the expected return is 2% + 1.4 * (9% - 2%) = 2% + 9.8% = 11.8%. The
actual return is 13%, so alpha = 13% - 11.8% = 1.2%, not 2.8%, making the first statement incorrect
upon recalculation. The stock outperformed its CAPM benchmark (13% > 11.8%). The risk-adjusted
return (alpha) is positive, so the negative risk-adjusted return statement is false.

Question: 690 

A wealth manager recommends a fund managed by a colleague to a client. The manager earns a referral
fee. Which fiduciary standard actions are appropriate? 

A. Disclose the referral fee to the client
B. Assess the fund’s alignment with the client’s objectives
C. Recommend the fund to support the colleague
D. Obtain compliance approval for the recommendation

Answer: A,B,D

Explanation: Disclosing the referral fee upholds the duty of loyalty. Assessing the fund’s suitability
ensures the duty of care. Compliance approval mitigates conflicts. Recommending the fund to support a
colleague violates fiduciary standards if not in the client’s best interest.



Question: 691 

A portfolio manager uses the Markowitz model to optimize a client’s portfolio with three assets: equities
(expected return 12%, standard deviation 18%), bonds (expected return 5%, standard deviation 7%), and
real estate (expected return 8%, standard deviation 11%). The correlations are 0.3 (equities-bonds), 0.5
(equities-real estate), and 0.2 (bonds-real estate). The client requires a minimum return of 8%. Which of
the following portfolios meet this requirement and are likely on the Efficient Frontier? 

A. 50% equities, 30% bonds, 20% real estate
B. 60% equities, 20% bonds, 20% real estate
C. 40% equities, 40% bonds, 20% real estate
D. 70% equities, 20% bonds, 10% real estate

Answer: A,B

Explanation: Using the Markowitz model, portfolios on the Efficient Frontier maximize return for a given
risk level. We calculate the expected return and variance for each portfolio to check if they meet the 8%
return requirement and assess their efficiency.

Portfolio A: Expected return = (0.5 × 12%) + (0.3 × 5%) + (0.2 × 8%) = 6% + 1.5% + 1.6% = 9.1%.
Variance = √[(0.5² × 0.18²) + (0.3² × 0.07²) + (0.2² × 0.11²) + 2(0.5)(0.3)(0.3)(0.18)(0.07) +
2(0.5)(0.2)(0.5)(0.18)(0.11) + 2(0.3)(0.2)(0.2)(0.07)(0.11)]
= √[0.0081 + 0.000441 + 0.000484 + 0.001134 + 0.00198 + 0.0001848] ≈ √0.0123238 ≈ 0.111 (11.1%).
Meets the 8% return requirement with moderate risk, likely on the Efficient Frontier.
Portfolio B: Expected return = (0.6 × 12%) + (0.2 × 5%) + (0.2 × 8%) = 7.2% + 1% + 1.6% = 9.8%.
Variance = √[(0.6² × 0.18²) + (0.2² × 0.07²) + (0.2² × 0.11²) + 2(0.6)(0.2)(0.3)(0.18)(0.07) +
2(0.6)(0.2)(0.5)(0.18)(0.11) + 2(0.2)(0.2)(0.2)(0.07)(0.11)]
= √[0.011664 + 0.000196 + 0.000484 + 0.0009072 + 0.002376 + 0.0001232] ≈ √0.0157504 ≈ 0.1255
(12.55%).
Meets the return requirement with higher risk, still likely on the Efficient Frontier.
Portfolio C: Expected return = (0.4 × 12%) + (0.4 × 5%) + (0.2 × 8%) = 4.8% + 2% + 1.6% = 8.4%.
Variance = √[(0.4² × 0.18²) + (0.4² × 0.07²) + (0.2² × 0.11²) + 2(0.4)(0.4)(0.3)(0.18)(0.07) +
2(0.4)(0.2)(0.5)(0.18)(0.11) + 2(0.4)(0.2)(0.2)(0.07)(0.11)]
= √[0.005184 + 0.000784 + 0.000484 + 0.0012096 + 0.001584 + 0.0002464] ≈ √0.009492 ≈ 0.0974
(9.74%).
Meets the return requirement but has lower return than A for similar risk, suggesting it’s less efficient.
Portfolio D: Expected return = (0.7 × 12%) + (0.2 × 5%) + (0.1 × 8%) = 8.4% + 1% + 0.8% = 10.2%.
Variance = √[(0.7² × 0.18²) + (0.2² × 0.07²) + (0.1² × 0.11²) + 2(0.7)(0.2)(0.3)(0.18)(0.07) +
2(0.7)(0.1)(0.5)(0.18)(0.11) + 2(0.2)(0.1)(0.2)(0.07)(0.11)]
= √[0.015876 + 0.000196 + 0.000121 + 0.0010584 + 0.001386 + 0.0000616] ≈ √0.018699 ≈ 0.1367
(13.67%).
Higher return but significantly higher risk, potentially less efficient than B.
Portfolios A and B offer high returns with reasonable risk, making them likely candidates for the
Efficient Frontier.



Question: 692 

In the implementation phase for Ms. Vyas, a 55-year-old with INR 18 crore, you recommend a
diversified portfolio for her retirement in 5 years. Her risk tolerance is low, but she insists on including
cryptocurrencies. How should you respond?

A. Educate her on cryptocurrency risks
B. Include a small cryptocurrency allocation
C. Maintain the diversified portfolio
D. Shift to high-yield bonds

Answer: A

Explanation: Given Ms. Vyas’s low risk tolerance, cryptocurrencies are unsuitable due to their high
volatility. Educating her on these risks aligns her expectations with her risk profile and retirement goal.
Including cryptocurrencies or high-yield bonds increases risk, and maintaining the portfolio ignores her
request.

Question: 693 

A wealth manager uses AAFM’s Portfolio Review Performa to report on a $15M portfolio with a 9%
return, 10% volatility, and a benchmark return of 7%. Which advanced metrics should be included to
meet AAFM standards? 

A. Jensen’s alpha to measure manager skill
B. Client’s behavioral response to returns
C. Tracking error to assess benchmark deviation
D. Turnover ratio to evaluate trading activity

Answer: A, C, D

Explanation: AAFM’s Performa requires advanced performance metrics. Jensen’s alpha measures risk-
adjusted outperformance, reflecting manager skill. Tracking error quantifies deviation from the
benchmark, critical for performance evaluation. Turnover ratio assesses trading activity’s impact on costs
and taxes. The client’s behavioral response is not a quantitative metric required by the Performa.

Question: 694 

Ms. Nair, with a $3.5 million portfolio (60% equities, 30% bonds, 10% alternatives), seeks a
comprehensive wealth plan using AAFM’s Portfolio Review Performa. Her goals are 6% returns, 10%



maximum volatility, and funding a $500,000 retirement home in 8 years. Which steps should you
include? 

A. Calculate the portfolio’s standard deviation to ensure volatility stays below 10%
B. Incorporate a tax-advantaged annuity to fund the $500,000 retirement home
C. Use historical simulation to assess portfolio risk under past market crashes
D. Reduce equity allocation to 50% to lower volatility

Answer: A, B, C

Explanation: The AAFM Performa requires aligning Ms. Nair’s portfolio with her goals. Calculating the
standard deviation ensures volatility remains below 10%, critical for her risk tolerance. A tax-advantaged
annuity provides a structured, tax-efficient vehicle to fund the $500,000 retirement home. Historical
simulation assesses portfolio risk by applying past market crash data, ensuring robustness against
downturns. Reducing equity allocation to 50% may lower volatility but risks missing the 6% return
target, as equities drive growth, and no specific data justifies this adjustment.

Question: 695 

Mr. and Mrs. Sharma, both 45 years old, approach you to establish a client relationship for wealth
planning. They have a combined net worth of $2 million, including a primary residence ($800,000),
investment portfolio ($1 million), and savings ($200,000). Their primary goal is to retire at 60 with an
annual income of $100,000 (in today’s dollars, adjusted for 3% inflation). Using the six-step wealth
management process, which steps are critical to initiate their plan effectively, considering their high
expectations for personalized service?

A. Analyze their financial status using Monte Carlo simulations to project portfolio longevity
B. Develop recommendations for tax-efficient withdrawal strategies during retirement
C. Establish client relationships by conducting a detailed discovery meeting to understand their values
and goals
D. Gather data on their current assets, liabilities, income, and expenses to create a comprehensive
financial profile

Answer: C, D

Explanation: In the six-step wealth management process, the first two steps are critical to initiate the plan
effectively. Establishing client relationships involves conducting a discovery meeting to understand the
clients’ values, goals, and expectations, which is essential for personalized service. Gathering data on
assets, liabilities, income, and expenses provides the foundation for a comprehensive financial profile.
While analyzing financial status and developing recommendations are subsequent steps, they rely on the
initial relationship-building and data collection.



Question: 696 

A portfolio manager is constructing a portfolio with three assets: Asset P (expected return 9%, standard
deviation 16%), Asset Q (expected return 13%, standard deviation 21%), and Asset R (expected return
17%, standard deviation 26%). The correlations are P-Q: 0.2, Q-R: 0.4, P-R: 0.1. The risk-free rate is
3%. To optimize the portfolio for the highest Sharpe Ratio, which calculations are essential? 

A. Compute the portfolio’s expected return as a weighted sum
B. Calculate the portfolio variance using the covariance matrix
C. Use the Black-Scholes model to price options for hedging
D. Maximize the Sharpe Ratio by optimizing asset weights

Answer: A,B,D

Explanation: Optimizing for the Sharpe Ratio requires calculating the portfolio’s expected return as a
weighted sum, computing the portfolio variance using the covariance matrix (derived from standard
deviations and correlations), and maximizing the Sharpe Ratio by finding optimal weights. The Black-
Scholes model is irrelevant for portfolio optimization.

Question: 697 

A portfolio on the efficient frontier has an expected return of 14% and a standard deviation of 20%. The
risk-free rate is 5%. Which metrics apply? 

A. Sharpe ratio = 0.45
B. It is the optimal portfolio for its risk level
C. It includes the risk-free asset
D. It dominates portfolios with lower returns and equal risk

Answer: A,B,D

Explanation: The Sharpe ratio = (14% - 5%) / 20% = 0.45. The portfolio is optimal for its risk level, as it
lies on the efficient frontier. It dominates portfolios with lower returns for the same risk. It may not
include the risk-free asset unless on the capital market line.

Question: 698 

A portfolio manager evaluates a fund with a return of 20%, a standard deviation of 18%, and a beta of
1.4. The risk-free rate is 4%, and the market return is 12%. Which metrics are accurate? 

A. Sharpe Ratio = (20% - 4%) / 18% ≈ 0.89.



B. Treynor Ratio = (20% - 4%) / 1.4 ≈ 11.43%.
C. Jensen’s Alpha = 20% - [4% + 1.4 × (12% - 4%)] = 4.8%.
D. The fund underperforms due to its high beta.

Answer: A,B,C

Explanation: The Sharpe Ratio is (20% - 4%) / 18% ≈ 0.89, so the first statement is correct. The Treynor
Ratio is (20% - 4%) / 1.4 ≈ 11.43%, confirming the second statement. Jensen’s Alpha is 20% - [4% + 1.4
× (12% - 4%)] = 20% - [4% + 11.2%] = 4.8%, so the third statement is correct. The fourth statement is
incorrect, as the positive alpha indicates outperformance. Thus, A, B, and C are correct.

Question: 699 

A wealth manager prepares a client report using AAFM’s Portfolio Review Performa for a $25M
portfolio with a 7% return and 8% volatility. Which visual elements should be included to enhance
communication? 

A. Bar charts showing sector allocation contributions
B. Client’s emotional response to market events
C. Line graphs comparing portfolio and benchmark returns
D. Pie charts illustrating asset class distribution

Answer: A, C, D

Explanation: AAFM’s Performa emphasizes visual clarity in reporting. Bar charts showing sector
contributions highlight performance drivers. Line graphs comparing portfolio and benchmark returns
provide clear performance context. Pie charts illustrating asset class distribution visualize portfolio
composition. The client’s emotional response is not a visual element and is outside the Performa’s scope.
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